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Course: Pre-Calculus Pre AP (Master  Assignment: 7.7 Classwork Day 1

1. Express the given product as a sum containing only sines or cosines.

sin (40) cos (20)

sin (40) cos (20) =
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression.)

2, Express the given sum or difference as a product of sines and/or cosines.

cos 0+ cos 30

cos 0+ cos 36=
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression.)

3. Establish the identity.

sind+ sin (308)

2cos9 = sin (26)

Choose the correct sequence of steps to establish the identity.

O A. sin0+ sin(306) _ 2sin(28)sin 0

2cos0 - 2cos0 = sin (20)
QO B. sinB+sin(30) 2sin(20)cosb o
2cos0 - 2cosB = sin (26)
(O C. sin8+sin(30) 2cos(28)cosh
= = sin (20)
2cos® 2cosb
O D. sinb+sin(38) -2sinBcos(26) "
2cos - 2cos0 = sin (29)

-4, Establish the identity.
1- cos (20) + cos (40) - cos (60) =4 sin 6 cos (26) sin (36)

Choose the correct set of steps below.

O A O B.
1- cos (28) + cos (40) - cos (60) 1 - cos (20) + cos (40) ~ cos (60)
= —2sin0 (cos 8 + cos (56)) = -2 cos 0 (sin 0 + sin (58))
=4 sin B cos (20) sin (30) =4 sinf cos (26) sin {30)
Oec. O D.
1 - ¢0s (20) + cos (48) ~ cos (60) 1- cos (20) + cos (40) — cos (60)
=2sin0 {sin 8 + sin (50)) = -2cosf (cos 0+ cos (50))
=4 sin 0 cos (26) sin (30) =4 sin 0 cos (20) sin {36)
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1. 1
E[sin {60) + sin (20))
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2. 2cos (20)cos O

3. sin@+ sin{36) 2sin(20)cos0
2cos@ - 2cos O

= sin (20)

4.  1- cos (20)+ cos (40) - cos (60)
C. =2sinB (sin 0+ sin (59))
=4 sin 0 cos (20) sin (36)
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